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__Plee . Ratio Value  Origin - Mean is allected by change in: B
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F‘;.. e s | ad .{ \v ._,_Jr.\_,- :ul.i.._.\n. u”l.fL,‘ -'/Ju‘ -:u._,-.u *:..f!
o - e = A . .;
reuciis Perpendi- ics opposite to incongruent central angles of o
ll‘ICOIlE.-l-El_E_IEI Parallel “cular ¢ “"&“@k »L are always: . )
Q‘W "CL' o S = o -:n-:......f'r
I 3 ) QAN 8
o RN Tow maiy lﬂﬂ}jt‘nl'i can be drawn from & paint
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Write short answers to any SIX parts,
Deline exponential equation.

Solve: X" +2x=2

Solve the equation by using quadratic formula:
Find the discriminant: 9x% +25 = 30x
Lvaluate: (9 +do + dn® )

Write the quadratig equation have these roots: 2, ~6
Define proportion.

If yor {- and y =4 when x = 3 find k.

Find a fourth proportional to: 15a%b® . 10a20°

Write short answers to any SIX parts,

Define rational fraction.

189 B B e iard i

(x+1Xx-3) x+1 x-3
Define bijective function. ‘"\0; i

5x2 48y 4+1=0

, 217}

(Part~1 @ i)

B lazge ) 2
:;f...v/’d'unb-iju...i 6]
2yax=2 :&ESF G

:#_J;.Jh'}lf-ura’iﬁmurahl—‘ Ciii)

9x% 1 25=30x :«_:‘,::pl"'pxr‘-lﬁ) (iv)
(9 + 4o + do?)? :ﬁrr‘” =4 (v)

2 —Giagalrb‘i.,c-*”!dhu" u:':..r.'-'...: (vi)

-¢r1wk".l'\ 1-.---J-' -’]ul)u'

15a°1°

Iﬂm‘*bs

_,;_f_.v,--J_,;-: (vii)
)".'wn)

b e B (i)

S
© ez Langedd

S A0 W

Ix-Y A B r ;.
XA D=3 X410 N g

AN JJM:C’L;I. Ciii)

R = {(x. \mw;;‘«g}«‘e_w: M-{v]vePay<lOfa L={x|xeNaxsst A (v

IFL={xixe NAX <5} and \lwﬁﬂ}t Pay<10} then make relation R =
et »&t—rs POV =8+l Yae Auye Bl A={l. 2},
3} and F={(x,y)| ¥y =5 + L. ¥xe Ay € B} tind Dom {and Rang
Lo A BFRA = |13,

{2, 4. 6, 8} find A -R

IfA={,2.B={2,

ITA={l, 234,56 .B=
Define class limits,

Find the median: 12,6, 7,3, 15, 10, 18, 5

I'ind Harmonic mc:m:‘_xJ 1215 ] 8 I 1

e s

Write short answers (0 any SIX parts,
How many minutes are there in twao right angles?

Convert %rud lo degree.

Find 0.when {=Ycm , r=5cm

| I

= 2cosec’d
I-cos® |-+cos0

Prove that:

Define chord of circle.

(gtiA?)

XYY N+ ) =0}
B={2,3) /1 ()
o5 6. B={2 46 815 (vi)

S /e dia il

12,6, 7. 3, 15,10, 18, 5 182 tbesviii)

x [ 12] 5 |8 ][4 lpbunkio G
Aeyzf Lange §f

*QLa T F LU Ndin ()

ERES gj):f——md (i)

{=9em rmﬁcnl.l_r.’.._:,{,‘r“’ﬂ (iii)
I~:t159+l+c050=2m5ec20 et (iv)

-g.{-é‘/"’.J?nf.c_fl: (W)
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Define non-collinear paints. FED____/ ‘____26
22 28T g0 (i)

Define n-center,
-éw&'/;ifd'héir--ih{viii)

-.;:;'-:’r;'-".l'blh“.,ﬂ..q_ Sem SQJJ&;'LJ"(""’.,Q (ix)

asure its perimeter.

Define radius of circle.

The length of each side ol a n.,bu!‘tr octagon is Seim me
‘:Jll 9 /t l)’-[_f "‘ 08 "Jlrf....,”{;;/...—tifﬁ...-lllr'df :—-LSI rf,;__,.a?

P.ut - 11, Attempt any THREE guestions, Each question carries 08 murks.
Question No. 9 is compulsory SO

2 I

I Id
N1 F5d=15x 12 Folome (L) 5

0 Solve the equation: X' 34 = 1557
04 _une’ —a:(l |-m:)/’!£,u;: sl X+ (mx ko) =at eSSl (&)
roots if ¢ = a*(1+m?)

=

Show that the Lqmlton %2+ (mx +e) =a’ has equal

3 f:’\v":uslrJ:"‘ --‘._....-Jv..f:. w€w i) -6

04 Su=023 r:’“’ Wirxu=
If w varies inversely as the Llth of v and w = 5. when u = 3. Find w when u =0,
04  Tind the partial [ractions ol: R o “ — h_“ i@ e (L)
(x+ 3 +1) (x T\Jx +1)
f)
SEetinB= (23,57} A= {1, 3,5, 9%\@\ 3.4.5,6,7.8.9. 10}/ () 7
04 (@ (ANBY =A'UB
IfU=1{1,2.3.4,5 6.7.8.9, 10} A~ 4@5\}\7 9}, B = {2, 3.5, 7Y then verify
(ANB) = A UB ’ <
04 &;‘v ¢ e A e Lid g 32 ()
The length. _I_'}?_m.mb are y:ﬁ*t:ﬂ%c]mx Find standard dey mtmu .
TLulﬂth Ji ) 20-22 23-23 26=28 3 \ 32 - .:-4
[hecluency AP 3 6 ) 12 ___9_ 2 J
-l s ou' T bl "2 ' ]
04 —-:-“Fr‘:"’w‘-’&vf'u-oy.» L}Lrnwww».-frwtu*.—"rﬂ i cosl - =y )'. (sh) -8

s -2 g \ . 3 . von
[f cosB = —3~ and terminal arm of angle8is in quadrant IL. Find the values of remaming

trigonometric ratios.

04  Draw two perpendicular tangents (o a circle of radius dem. &V Sopt el md S 4 ()

-

.__a-""J,' “hasd f‘g i ‘/_;.;I:f&g_n Y

--u\
Prove that perpendicular from the center of a circle on a chord blb'..‘(.l it
e OR L we-

-n:'..-r.l’"fr)}_.-d..dll.!."’;é" et r}, ,.11;’{:'!',"_; ey u";‘;} _!'Ij"'u_-.._.-' f".’ ;V""—'-""U fa.’.:- Ty

Prove that the measure of a central angle of a minor arc of a cirele. is double that of the angle

subtended by the corresponding major arc.

1013-X124-85000 &



W
W

pX¢
XY

/ s

sl
1/.’)\_.:-'.?; (fs
15:4F

)(uri"tr)d:v&"r
02203 FOP-222Y 7198

Objective
Paper Code
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_r,f,,-’w..,.,wm".w:_.mﬁ_f;fuan4fu,;r,ug;=._41 @:/:.ﬁﬁ;ﬂm#

Ay
I

b 1 C B N A Questions ns / =l ___[,E‘,J
i | | | ) . iy
. ANB=¢ | BNA=A | BNA=B | ANB=U IeB-A=BA
- ¢ E i ! 4 [ fl If B-A=B,then: _ E |
r [ ‘ :‘l;.erﬂJuﬂ)_iﬁ'éi_)ugﬁ.bri
5 I 2 = l 4 The different number of ways to describe | 2
5_ ) ___I_ L a set are: B
| H’._,J;-L:' ! g KU ir OF 1.l-'7"¢,:...4.|f.‘-'-"iijf 3
| Vriungles o lveles | Squares | Rectangles A histogram is a set of adjacent: ]
1 = | S F "__'-‘
. o ;o + ! |
1 Vs el ‘h‘d: o 53 2 i | 2 bl - .i
| Zsee®@ | 2cosec”d | 2sin“ 0 | 2c0s“ 0 Thenl T T g
; | . i ) I uf.- '.-'J;.:-pcblm_? éwb i
U | ! ‘ . | : | Tluuugh how many non-collinear points, 15 i
L ;___ i ! ______conacircle g@ . _____1'______ B
| | NG |
14161 L1614 | 32426 | 304l | w\ff) me= 6
! f | | o
o AR TR L h e S
! ) " | /,r:?p\\}—:) e ....H;U./ /ﬂ;{n..-u-"é:.d_./f:r :
! 270° ; 180° 360 : 903,\'.:-1\'\_\;*1"11: semi circumference and the diameter [ 7 i
i | | a0 |of acircle both subtend a central anple ol | |
| S~ t -
i l| I " ll <Q\j"7f) ?wén,.gouf/d &u:ﬂ:d l‘i—*/!r.sll |
i ' | 3 | f---fit. PRV lHOW many common tangents can be P8 |
"“'“"'_"II_'“— ! _ ﬁ‘@;?‘) drawn for two disjoint cireles? | |
e o e b Yoztne | AP (b e b ion| g |
" 1 2 AW 28 | 2a The quadratic formula is: _ J
| | P 2 _1gea |
| x4 x+8 | x=T,x-8 | x+7,x=8 | x-7,x+38 B GanL K 155+ 56 10 |
! | o Two linear factors of x* ~15x +56 rc: _; ;
{ | S
] | :E’onJFfm——-I—F'-—wlflr '
i i N |=
_ | = . = I s ———= 7 da ‘f— ,then @ = |
I || i 1
= : E P | e i f P
| oy | P & 4 | (B 1L dNE = 5% +2 =0 i 12
___ Equal Rational Imaginary Irrational  [Roots of 4x% —5x4-2 =0 are: .
. i X X AR xS
] x* x? )’4 y? The third proportion of x* and 3‘2
| /
! | :;n % = ":T 3 /G
Cou=wkf D ou=viE D s vk? u=wk? o 14
i | ' If ==—=k, then
| | i VW
| ' In =
| E ) -u."'er(J M oad {x+|j(3\—l} J
| Ax C |+ lA 3 _A_4_E_ [+._._A._....p..._..é... x?- + 15 |
‘ X+l x=1 X+l =1 X+ x-I| X +1 =1 Partial fractions of (—-‘;I—)(—“:Tj- are of l
!...w - l‘ the form: . J
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(Part~1 :
Write short answers to any SIX parts.

) . i .
Solve the equation 3y° = y(y = 5) by factorization.

i ] |
Write in standard form: 3 -
x+4 x-4d
Define radical equation.
Find discriminant: X2 +3x+3=0

F.vallurltu: (I -3w~ 30°)°

Form a quadratic equation with roots 3 and -1,
Define ratio.

Find the third proportional to a®,3a°

Find p, if 12, p and 3 are in continued proportion.

Write short answers to any SIX parts.

Define rational fraction.

_Er!‘" '_P J}ff\;
N I\"-

!md the '.rt’llﬂ,'h ig’;g&mm B.

<",\ ]
ST XUY S Y= {2,459} m X = {14 L9V Gi)

I Sx+4d - A +
(x=d)(x+2) x-4

X=4{1,4,7,9 and Y = {2.4,(@;\.}}4hcn hnd XuUy.

Jz“.fr:*' K=Y Y=, 8, 12,
2% then tind X = Y.

IfX=1{2,4,6,....,20)and Y = {4.§, 12,....
Findaand b, if (a-4,b-2)=(2, 1)

(aflz

oy e L

078  £02:10:5
Jil2)

1014-X124

FRP-2-2]
Aoz Llangedd 2
~SES YA 24 3y = y(y-5)enie ()

ﬁJf =3 @ Pupesan (i)
i e (i)

X% +3x+5=0 :ggf':""u‘»‘rJ} (iv)
(1-30-30") :geted )

Ut 4 3 (Roots) Sl ebuatibe B (vi)
g e (vid)

L LAY 0 30 (i)
-{r:hf'p:uru.‘...-‘h))'l! wp 1200 (Gx)
ez LangedS
Lo 0 O

;‘*&-‘I B / ':ll)

<)
(_/)\ =

'\ \.

‘\ Sx+4

(x=d4)(x+2)

]

2 X =246, ... 2000 Gy

(@-4.b-2)=2, I}f -'.t"’h.u*n (v)

cEE A bt Lox M Tse M = {d, e, L g) o L= fa b, e} AV (i)

IfL={a,bc)andM=
Deline a subset and give an example.

Define median.

Write short answers to any SIX parts.
Define degree.

Convert % into degree.

Find r, when {=4dcm , G=i— radian

Simplify: tan® 0+ tan’0

Define sector of the circle.
(e-tf)

IFind the arithmetic mean; 202, 225,350,375, 270 . 320 , 288

{d. e, I, g} then find two binary relations in 1.« M.

s Jiﬁ'..a.usl‘-""...é,! ?’uJ_n:J; (vii)
SR bt (i)
-_{h{lﬂdg&us (ix)
Eqm;*&nm.;:.@f
- SEN
NIV 133‘- (i)
|

b= 1._{.:-:-!‘ =4em J’c{f!"’ r(iii)
an' @+ tan’0 :Z 4 (iv)
_E'E_é,r"-..{/'-ﬁﬁr_}u (v)
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- P A (i)
g5 A8ty 2 i)
Lo seb et 3 UGS L B i)
The length of each side of o regular octagon is 3em. Measure its perimeter.

-_C-\J'Jl't 9 ﬁ':ul"'—ufﬁ} 08 LJl:’ﬁqg‘.;J;/:afl,lRL;leuf;:...dfarf;;,,p
Part - 1, Attempt any THREE questions, Each question carries 08 marks.
Question No. Y is compulsory

Solve the cquation: +/3x+100 -x=4 V3x+100 —x=4 :,;{J"/.—.A;L.ﬁ () .5
Ephiae 182 AL e 0 ()
The product of two positive consceutive numbers is 182. Find the numbers.

et e B P e 6T U T M 3,28 () <6
Find the value of the letter involved in the 7, m ~ 3, 28 contiftied proportion.

.
Differentiate between minor are and major arc of a circle,
Define cyclic quadrilateral.

Deline polygon.

= (O —
Resolve into partial fractions ol: 3x 121 ,:\;:;\;ﬁh lﬂl : _-;f_' J-'-'L;V'L r/ds?.' 3
(437 D) L5 x 30 +1) .
(\'L\:Q\ -

AS(1.3.5.7.9) U={1,2.3,.... 1001 () .7

fU={1.2,3,..., 10}, A=1{1,3,5 39}, B =12.3. 5,7} then verity (AUB)' = AN

e U A At 1_‘{@%}“‘1"2409, 15000, 14500, 14800 (Eugsdusl# Gy ()
The salaries of five teacher§ i Rupees are as 11500, 12400, 15000, 14500, 14800. Find
standard deviation. ke

SPY et il 12
-—E:.{f’l"&ff SSEAL O cos0 > 0 tsin0 = Li%_ i) .8

I sin® = :-L‘?-and cos6 > 0. Find the remaining trigonometric functions.

13
" o - 4 = '!‘
..Eréfufbf'.f,? u.-f..ul-t,[,'{" 4 1”3 ,,"ha...f..'..,,'.'.':f.'.'_:u_/rf,h n ()
Draw two common tangents to two intersecting circles of radii 3cm and dem.

S e s Fof Sk
Prove that one and only one circle can pass through three non-collinear points.
— OR | -
-ﬁ.r::ufna.:.:u.arfLa/{ufih?‘ﬂi.‘uﬁ:lﬁ,:l;dffﬂu.':';.a..a,é"vff,,r:;.}uojfé;;:.;&
Prove that the measure of a central angle of a minor arc of circle. is double that of the angle
subtended by the corresponding major arc.

1014-X124-70000
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:.:-eﬂﬁtﬁﬂ:ﬂi’ﬂbﬁylﬂwm;ﬁuﬁwlfﬁdir,fﬂéfdu -ALE MC B rA:aLM?L[J’fA /-_*U!r
bbb radb b eSS S pimlienti k|

D C B A Questions / =i -
B-A ¢ B A ‘e tnssA-Bie ASB fi| 1
If Ac B,then A—B is equal to:
{9} {$,(@} ¢ {a} ‘e-trrlberdl| 2
Power set of any empty set is:
Wl st | At | A |

gkl (x-D(x+2)

Constant term Identity Improper fraction| Proper fraction --——’-‘Z'L— :
(x — l}f}t + 2] 15 ﬂ-BII:

a-b_x-y a:b=x+y a_x a_b [::#:-j; i :if..q'ijf,&lpﬂa;bzx-_yﬁ 4
X -! i . ,‘T \‘\.
y Y % ¥ 5 2 If a: bfr%_,x:-;ﬂtﬁqnﬁzdltemando property is:
b_y atb _x+y a___X a_b - \r‘-’) ic,:-:*‘iff?:fa:b=x-y)’! 5
a x b y a-b x-y Xy LSS ; ’ . '
lﬁ:‘f =x.: ¥, then invertendo property is:
- .:_‘- \ --’! E;
1 1 A ;_/'j'] :_,.;;.T.;'." : i | uz + Bz
a+p (@+B)? -2a = a?-pS, o -4l 6
Bl 7g i %} | o + fRicqual to:
SO o ;
3 =3 ! N L] ALK AL G| 7
F;‘..f;_ A Product of cube roots of unity is:
ff\x}’ :;F.;fﬁJu:Egﬂ ax2 +bx+c=0 ehlefileG| 8
4 3 AN/ g 1 The number of terms in a standard quadratic

equation ax? +bx +¢ =0 is:

U E I VE e B Lo | 9
1 4 3 2 How many tangents can be drawn from a point
outside the circle?

e b ST K 3L S1oe 40° S TPE L | 10

60° 40° 20° 8¢ An arc subtends a central angle of 40° then the
| corresponding chord will subtend a central angle of:
sine be_ 7y tangent ¥ 7h | cosine ¥ 7b | secant ¥ /b W z tUﬂJ}"IvE:ni Ve ml skl 11

. . ) | A line which has two points in common with a
Sine of a circle | Tangent of a circle | Cosine of a circle | Secant of a circle | circle is called:

e defed o f | e nfls Il e gLi| 12
Double of the Halfofany |Radii of a circle are:
All equal All unequal diameter chord
NE) ! 1 1 cosecdse = 13
& 2 22 2 2
4 e = = et LSS bie| 14
Place Origin Ratio Value Mean is affected by change in:
=d 3l ek 4 et e LSS Laidle| 15
| Value Rate Scale Place Mean is affected by change in:

1011-X123-80000 pA
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(Part-1  gjada) FBD-1—23

12 Write short answers to any SIX parts. : -é@klﬁ/‘?&rlzi{c‘j{ w2
Write the names of the methods used to solve quadratic equation. _?_irtiuﬂ)ﬁi_fd’fabudm; (i)
.o 1 1 1 1 - g
Write in standard form:  ——-+——-=3 it =? @RS elenl (i)
Solve: x2+2x-2=0 x24+2x=2=0 E‘-‘fbp il

I+ Tx=11=0 2o A onled 63 HataBnn  (iv)

Without solving, find the sum and the product of the roots of the quadratic equation: 352 4 7x—11=0

Find o? ifm:f%ﬁ. : - mzi'hm=:v!+TE)’f v)
Find the discriminant of the quadratic equation 6x? ~8x +3=0, ~EePaIGK 62 -8x+3=0cbloGun  (vi)
Define proportion. SIS wii)
If Rec T2 and R =8 when T=3, find R when T=6 _ﬂT=6,§${rﬁv§,§jﬂ=3 —2R=8 4 RecT2 (viii)
Find the fourth proportional to 5, 8, 15 /\()J\H‘ji ) s{r)"..,.rk?ligﬁ' 5.8,15 (ix)
12 Write short answers to any SIX parts. (}\\g;\ A -afaguxﬁé,:za;a.éf -3

Define rational fraction. (4‘\ r_"/) .._éd - /JJ /J” £ ()
Express in the form of partial fractions: :i :]1 (,_r\‘.’f(" ;\;‘/’ i; : : t_é};u:uf g?' &/d:z (i1)
Define binary relation. ; \\\;\, o & wde i

cﬁ? -G AxA I AxBB={-13} 4A={0.24 f
If A={0, 2, 4} and B={-], 3} ,thehfind AxB and AxA.
Define intersection of two sets. _équ C,b Iﬁd'u;ru (v)
Write De-Morgan's Laws. -4'19—9’:." l;’Z.r)":fJ 3(vi)
Define cumulative frequency. “E bS8 (vii)
Find the median for the marks: 82, 93, 86, 92, 79 82, 93, 86, 92, 79 :ZEA bk Un A (vidi)
Find arithmetic mean using direct method: S Illee 3 s, (ix)

X 1 2 3 4 5

f 3 8 5 3 1

12 Write short answers to any SIX parts. --"_ﬂ—allﬁ/ﬂﬁfl}'ﬂgc_af -4

Convert 2—; into degree. Ny 23—11 (i)
Find £, when 0 =60°30', r=15mm nr=15mm.8=60°30 LBebiad € (i)
Verify that: ﬁizaﬁ +5in O = cosech 03131289 sin B cogech e (i)
Define radian measure of an angle. = .,._;,{.'._@/‘Ltqéjd’:.;u (iv)
Define zero dimension. /.;:-f" -séh-&'/:gb"tf/" v)

(et )



04

04

04

04

04

04

FRD~)~129

Define tangent to a circle, ~EWAuvle i (v
Define circumference of a circle. ey i AShel e 2ty (vii)

The length of the side of a regular pentagon is Sem. What is its perimeter? fe. ARl - (" SL;HUKS& .’:.u"p”' L1 (viii)

Define perimeter, -r_.;.‘i-:-..a_! /;'-d:bl:l (ix)

- il 9 /:‘Ulr _L,_r?/.} 08 £Jl:7: -g.f;fai,lﬁd:aﬁlrufc_df cpdgd duan

Part - I, Attempt any THREE questions. Fach question carries 08 marks. Question No. 9 is compulsory.

3 4 : . F o,
Solve the equation using quadratic formula: e | & S trbE ol (=)

X-6 x-35 ~
Prove that:  x*+y® = (x +y)(x + oy)(x + 0’y) X4yl :(x{:‘}f}(ﬁ +OY)(X+0ty) et (O)
(O)v

(x-2F-(x-4" 12 A= -(x-4° 12 e (L)

Solve: (x=2Y +(x—4)" 13 : ;f\i)jf{x ax-a 13 eV
. —— . 9 {\;'/u.‘ = 9 2 ( )

A SIS, N - —_—— = e 7 N
Resolve into partial fractions: =i +(2{ﬁ<{f€>v DR IP éybﬁj/d;}

(B-A)=BUA o .47 B@ff’ 10} cA={1,3,5,7.9) « U=11,2,3.4, ..., 10}./1 (L)
U= {12, 3040 s 10}, A = LIGHST, 9B = {1, 457, 10) then verify that (B—AY = B'UA
P 8!

Find the standard deviation<.\ 1 12,6.7,3,15,10,18.5 A (L)

e L6 3L F Lo secd > 0y cosech = %ﬁ )
If cosech = -]I—% and sect > 0, find the remaining trigonometric functions.

A4 J.w”*ﬂ’;&m_é;wb,/w ABC &Ll ol (L)

Circumscribe a circle about an equilateral triangle ABC with each side of length 4cm.

=& Uﬂﬁwfdswc.}ﬂ'u?u:fj F"Pmﬁa_ﬁ)ﬁfé =
Prove that if two chords of a circle are congruent then they will be equidistant from the center.
- OR - s R e

UL rttle il Unles oA G Line_ oS E et

Prove that any two angles in the same segment of a circle are equal,

1011-X123-80000
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R e Objective Paper
* * ’//})u?a}f (Uﬂ/j)(wp) dp.l:,/ Code
ol 15 AF 220 &b PBD-2 237196

B IR AL e LIAL s E g g Q632 B LED 1 C B ARl LS| 1y
o a3 e SO SN S sl A

D C B A Questions / o Uy 7
ak bl wa_f:Tﬁ Ll %-Jﬂﬂidfu.bﬁ:iu:. ..,.-—'L).‘.')';’Jr 1
. y The most frequently occurring observation in a data
Mode Mean Harmonic mean Median set is called:
¥ LS 3 < e b2t o Ko fle bl QLK X Fd
) Sum of deviations of the variable X from its mean is
Different Same Zero One always:
30° 135° 150° 115* 3—;-radians = 3
13b ks s P Z+bM ) ﬂlsL;Jfa.-?:/ﬁ.{._}b 4
b ) A chord passing through the center of a circle is
Secant Circumférence Radius Diameter called: AN
oLk o ;
tangent b 7» | secant ¥ 7b | cosine ke Zb sine ¥ b e E‘.‘I.If(:- '@(W.Q.in Wl ML s Ll 5
Tangent of a Secant of a Cosine of a ) ) A line whi h hias only one point in common with a
circle circle circle Sine of a circle cing]@::{.’cﬁ.ﬁed:
, | i oA Bk s bl 60° Irnsdrati| 6
! + 3 3 1A 4om long chord subtends a central angle of 60°.
~ /509 |The radial segment of this circle is:
BNy . :
T R k3 gk 5 i bl ¥be S| 7
6 2 4 p [ G Angle inscribed in a semi-circle is:
PR Vo b E
; fj‘*f" 4 - :4.1I#|_fur’4_ﬁ ax? +bx+¢ =0 bl Bi| 8
4 3 20 1.~ [The number of terms in a standard quadratic equation
ax’+bxc=0 i .
T ]
3 -1 1 0 ' :‘;.;rf b’._.,:a ijgd:JKI 9
- Sum of cube roots of unity is:
. 1 . 2.0
2 2.8 | e e zlz 0 +P
a+B)° -2 o’ - - + a+p ‘ 10
@+P) P P o p? a? + B isequal to:
2_.2 | 3 2_k it 1) ol Lol @l o
y=x' | y=k y =30 Foog I T then: Y <3
15 12 4 3 , !g‘,{.‘r}""xgﬂtirx::s:l:i-,#h: 12
4 3 4 Find x in proportion 4 : x :: 5+ 15
3
G g X" +1
3 : —_——— | 13
P by A At et D +2)
3
Constant term Identity Proper fraction | Improper fraction Eﬁh is a/an:
Lk et % g e bbb e | 14
Super set Singleton set Subset Empty set A set with no element is called:
I AXB i 42 B el 3 L SbIA & 1| 15
) R 3 ? If number of elements inset Ais 3 and ‘¢ Sl J
in set B is 4. The number of elements in AxB is:

1012-X123-68000 /‘:'/
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12

12

12

............ :/'.‘; LY r‘:-.:-'lz

,/”?,j (Jt-.;w)(u*v)d?&j 1012-X123
60 AF & 02103 R
. FBD- > >4
(Part-1  Jjlacaa)
Write short answers to any SIX parts. "o mb'ﬁ‘/#tf.rl}?i{:'_df
Solve by factorization: 4-32x =17x2 4-32x =17x? féfd?iz’f-} (i)

| - | i i
Solve the equation: 5,{% = 7;;41' -2 Sx2 =7x4 —9 .g;‘fd’..-a,uu (i)
| 1 1 1 .
Write in standard form: vt = =3 R +m =] .aﬂ;."_)‘ad,.l‘., (iii)
Find the nature of the roots of the equation: 3x%+7x-13=0 3x2+7x-13=0 :E{'rﬁ”ru'fgr&yiu;-hu (iv)

Write the quadratic equation having roots: =dy =% =1, =7 :’dg .:.hl.—-d;mdbu%ﬁ-_né_,g v)

B 417 :.__;‘,’-_—rﬂ".;.;": (vi)
- X1y T Yk —5y) = 2x-7y N (vii)

Evaluate: w3417

If 3(4x ~5y) = 2x~7y then find the ratio x : y

Find fourth proportional to: p° +¢° , p? —q? , p? - pq+¢2 pP+q’, p2-q? , P -pq+g? B (vili)

D gaiend
: (O)v
Write short answers to any SIX parts. A -é@&&/gﬁr&’ !{LJ:(

Define direct variation.

\'g-\:l \II W . .

Define proper fraction. "}\L\j 4‘5..;1 }U/.._.al: (i)
-/I’_’-"I\'

I ;2 QA §_ 2 ,

X=Xt x—-1 . Y S & X =x“+x~-1 ii
Resolve the fraction Z+5  intoproper ﬁm“ﬁ;ﬁ%@“ > -ZJas Sl S (ii)
I’X=1{1,4,7,9} and Y = (2,4, 5, 9} then find ge_f@ij" - XNY ey = (2,4,5,9) 4 X={1,4,7,9000 (i)

AN

If A=Nand B =W, then find the value uj:ﬁ»\:}{’) e B-AM B=W A=NA Gy
N

~Er XUY IY=2 « X=¢ /] v)
uérxb"ﬂxﬁ ;B={C.d} J:!A={a,b}/ﬁ

IfX=¢,Y=2* then find xuyg::}:jt:} '
IfA={a,b} and B = {c, d}, then find Bx A _ "

:“érPMQLasitra,E;_).um, (vii)
200, 225 , 350 , 375 , 270 , 320 , 290

Find arithmetic mean by direct method for the set of data:

Define range, -Egh-i‘/;l.;-‘-rﬁ" (viii)

25 2.7 23 urtlns S AL L re £ b1e i (ix)
of juices of a certain brand are found to be 2.3, 27,2.5,29,3.1

_daymf"éﬁzquf

-EdRr Y T 6

wtom 0=l uts foh e @
-k G

(I=sin6)1+5in0) =cos?® 1L p/lefi (iv)
- int ()

-g‘,":.‘{":l"’.::’h-: -~ 19413129
The sugar contents for a random sample of 6 packs
and 1.9. Find the median,

Write short answers to any SIX parts.
3

Convert T;E into degree,

Find r, when £ =dcm , 9=%mdians

Define radian.

Verify the identities: (1 - sin6)(1 +sin 6) = cos2 g

Define acute angle.

(ed) /‘i
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04

04

04

04

04

04

FRP-2—23
Define length of a tangent. A /‘UJLJJJ Vo)
Define circumference of a circle. & WSl (vid)
Define circumscribed circle. _ZE AN (vidl)
Construct a circle of radius 2cm. ..:"',.I:ufhb’f 20 (ix)

< §il 9 A A 08 L L fepl e trfe ) i adaa

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the equation:  2x+5=v7x+16 2x+5=~/Tx+16 :,:‘fd"f;_,l,l/- (I
Prove that: x° —y° = (X— y)(x —0y)(x —0’y) -y =(x- y)gm+ oy)x—oty) et (&)
\ \_'/'
Find x in the proportion: §-x:11-x:16-x: 25"?‘_ f\_ é'fsl"‘JJ X St ()
\'“'.
Resolve into partial fractions: ook f\“\ ‘?x th 5{ L}f-l? u:;r/ sz ('-.-*)

Gx+2)(x+D* @ S B+ 2)(x+ 1)

(AUBY=A'NB" fL=reIB=1{1,4,7, 1\9%\% (1,3,5,7,9} < U={1,2, 3,4, ..., 10}J1 (L)
fU={1,23,4,...,10}, A={1,3,5, z,w\g (1,4, 7, 10} then verify that (AUB)' = A'NB’

\'\,

O e LS et S L uF I 6 ()

The marks of 6 students in M&ﬂigmaiws are as fallow Determine variance.

e [ 2 3 4 5 6
Students
e 0 4
ki 60 70 30 90 8 2
Prove that: (cot 8+ cosecO)(tan 8 —sin 6) = secH —cos O SEE ek ()

UAEA A3 o6 AW CA st BC (AB AL U1LEL badin/ ¥E ABC w- ()
Circumscribe a circle about a triangle ABC with sides | AB|= 6cm» |BC|=3cms |CA|=

_.g_o:i}fa}'b&ugdfuh_guf;.LﬁF&? 7 L gf,i: =

Prove that one and only one circle can pass through three non-collinear points.
—-OR -- s L

L sl n G Sa S LR oSG 2k

Prove that any two angles in the same segment of a circle are equal.

1012-X123-68000
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| e Objective Paper
w bes) (B IS

Code
15 ALK 22420 1=y 7191
bAoA Lt e LI st WL g gV < JEL4sD 4l C B 'ﬁﬁ"a“-'ﬁkmfﬁ\/:}dv
M il R 2 SLSES e\ nhent - 1
D I B A Questions / =y ..ri’/
y bt bl b dse - s b2 /b? - dac A e drdidomn| 1
2 2 The quadratic formula is:
b Vb7 + dac b v/b? —dac i
i= e i D x= 7 B |
§ % p L e B Run AL 1l - xsa=0maBia i 2
] 1 7 B ] If ¢ B are roots of equation 7x2 —x+4 =0
then 'IIB is:
\ 3 -1 1 0 :;..;sflf'.,-q,i_-ﬁ;jl" 3
Sum of cube roots of unity is:
5 n > \ \I "
\ =t Fsﬁﬂ fa&: J" /»\/\‘6':}” :.r_rdf alfa:bes’| 4 }
Ralo Consequent Antecedent Relation In & ratio 3\:‘;&) a is called: J
12 3 L] i O@) g{ﬁxt,ﬁiizx::S:lSwF[ 5 P
4 3 " Nz @xinmpurﬁm#:x::i:l&:
- i . x4l
joA , B |Ax4B_C A B |, M@@C 'U-"d"'-qp———“;"'mr (x +1¥x~1) .
R T R AT R x 41
ﬁj ,Mﬂhﬂim:&m are of the form:
e or S SN AL LA
Empty set Set Powersét Sub set A collection of well defined objects is called:
U ¢ B A e tcANB I AcB fi| 3
llif AcB then AMB isequal to:
e &;ﬁuvz‘iﬁf ;E’[w iy e tiueduisnS | o
Histogram m {ﬁm Data A proupad frequency table is called:
—F 3t . = O cebie L StE _ wade| 10
Proportion Origin _ Ratio Value Mean is affected by change in:
I-tan?0 14cos’ 8 1+tan’ @ 1-sin? 0 sec’B= 1n
-e.};:-:a:?ﬁs’ da el vf»sfh 40 avnleing L n
M"‘" All unequal D““I.H‘ ' All equal Radii of a circle are:
P2 e 7 Ciws b Lo Ll 13
Center Diameter Chord Secant A circle has only one:
3 . Vil b e Fheadli¥ 60° {}Ef?ﬂ'ﬂjt_ﬂ"r 4.0 14
? ' A dcm long chord subtands acentral
angle of 60° the radial segment of this circle is:
ol i - A etk 7 15
Radius Boundary Segment Chord The circumference of circle is called:

511-X121-70000



SRR | 7 (nsrie
.,'.uf (J L‘,)(U"V)o“tj
60 /ur & 02:10 1y
( Part-1 Jil daa )

12 Write short answers to any SIX parts, .éal!&xﬁﬁﬂzlg:.&f ol
Write the equation instandand form; 233 - 224400 X X2Zi4u0  Se Mol )
Salvethe equation: x242x=2=0 xadx=2=0 L Nanle (i)
Solve: VIR+IB wx I8 =x S i
Evaluate; (1-30-30%) (1-3do-30?) Lokl v

(t+made(men)xen=>L=0 :éf;-—.,,&)‘g_,.nﬂtrg%u% Mamofon W)

Without solving find the sum and product of the roots of quadratic eguation: (f+ m‘,ul:j +{m+n)a+n-¢=0

Find o if: g.ﬁ m.:!.i‘.& A d ()
mﬁ% and ¥=4 when X =3 find * when ¥=24,  y=24 palal x Jp k=3 r=4myw—f (vii)
T _ .2
; : ~q p-g -q’
Find the third propartional of. 3~ 5 » —3 oy s @b v +q et (Vi)

Find the fourth proportional of:  4x* , 2x? , 1§
12 'Write short answers to any SIX ;hll't:

P qxi y 2t 18T gl e (ix)

*gﬁ‘}ﬁ/ﬁﬁﬂ.ﬂgcﬁlf il

What is proper frsction? te /e ()
How can we make pantial fractions of mp f._.gg.':‘l,;jb.LMr"ﬁnRJ ‘{l—:ﬁ%{ (i
IfX={1,479),Y= {2459;:}:::@@. ,ﬁgr;-—vux MY ={2.459)«X= {|,47,q}f (iih)
Define a function. @i@ﬁv AN W)
EP XNOYUZ) e 2= (2,3,5,7, 1,05, 17,19,23) 4 Y = (0,2.4,6....,20} « X=(1,3,57,..., 1908 (¥)
X = (1,3,5, 7., 19), ¥ = {0,2,4,6,..0.20) and Z = (2,3,5,7, 10, 13,17, 19, 23} then find XN(YUZ),
Wiite all the subsets of {a, b} . eGP (a0} (vi)
Find arithmetic mean: 200, 225, 350, 375, 270, 220, 200 200,225, 350, 375, 270, 320, 290 :ZE il (vii)
Define s frequency distribution. oy w o (vill)
AN Al (@0
12 Write short answers fo any SIX parts, o\ fLomge S 4
Define ratio and give one example, | Sl Al (i)
Find a third proportional to 28 and 4. LA Ba G
Define an angle. " ZE AL (i)
Convert 2 to degrees. L 5 @)
Find r when ¢ = Sgem and = 45° *ér”"*’{‘; Fe0=45" ) t=S6em 5 (y)

(i)



[I-Iinzl!}(li-unlﬁlﬂ :é'ﬂg (vi)

Express ~67.58° into D°, M and §" form. LB g S M D 6158 (i)
mZA =60° g mAC = 4cm « mﬁ:ﬁcm_&ér#mﬁ‘;m (viii)

MAC = 4cm and mLA = 60°
Lk i8S @

Prove that: (1-sin? @)1 + tan? 6) =1

ina AABC, calculate mBC when mAB = Sem .
Mnnofwhmhimmequdplm.

g9 A A 8 Loz _g;{;/’:.pgﬁ_-.'wmfadf (pigd daas

Each question carrics 08 marks. Question No. 9 is compulsory.

Part - 11, Auempt any THREE questions.
4  Solve the equation: Ix+5=+ Tx+16 rx45=yTx#16  ZESloms () -
. -wra’.ﬁ%&aid*é-hc-!sviumﬁﬁl §T3a+5=oawﬂ afi (&)
Ifa.p are the roots of the equation x2,3x+ﬁ=g,femeq n@t/ﬁw Y, rools are u’*‘.ﬁ’-
_ N 1) o »
| xn—E;Hz :;)" ?}E"@{J = 5 e 5% z_LxE_th-W:J?P () -
u_:':_. ‘i { . . -3
Using theorem of componendo dividendo, fihSlhe SERARRCE 1 —3z if ’{:7%
2_ 3y O 3
Resolve into partial fractions: 5 b X" —x+l éﬁ L7 (<)
(l%\\ -2) (x=1(x-2)
I R={(x,Ny=x} :.g_“i,}gme LiM={ylyePay <10} [L={x|xeNAXS5fi (L) -

ifL={x|xeNax=<5}, M:{ylyel’nyr_lﬂ],mcumakﬂmemlatiunﬁomLtuM

R={(x,Ny=%
4 Find the standard deviation of the data: 0 3.8.8.9.8.9,18 gty ()

. Veity (tan 0+ cot 8)(cos 0 +sin B) = sec + cosecd Sk () -

4+ Draw circle which touches both the arms of angle 45° . _nbrZiUs UL 45° R $‘::5u ()

L ystheliifiloa ,'{:‘MMJ U‘B}J&;-fhftré CFL

Prove that if two chords of a circle are congruent then they will be equidistant from the center.
- 0OR - .
L st mE e Sha Tl ot

Prove that two tangents drawn to @ circle from a point outside it, are equal in length.

511-X121-70000
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Objective Paper
Code
L242() 1y 7198

L sl g g4z LD 5 C B AT Lrs

Al

L bl ar SL SN SifnAmpse L sk | 1
r D - B A Questions | e o
oy » - *~ ‘e bl Urindg ffizo¥e 5l 1
Boundarn Chord Sepment Sector A portion of a circle between two radii and an arc is called:
et IS I AL N e a0 ST 2
L 60" & e An arc subtends 2 ce=ntral angle of 40°, then commesponding
chord will subtend a central angle of:
7 e A Cow e b L ke mf 3
Center Diamseter Chord Secant | A circle has only one:
o L =4 Wl :..:_le(}:IUJLJF’.E;r}Lh}b 4
Dismcter | Line segment | Circumference | Radius | A chord passing through the center of a circle is called:
N !
I-tan?® | l+cos’@ l+an?® | 1-sin’@ S > CE I 5
= S | andd | s/ o DR | ol 7 ] 6
Ratio Hiswopram |Ungrouped data| Grouped daia | A data of a frequency distribution is called:
s ol Ars rh T ' +rﬂandymﬁr559/ 7 /
, ! ines the middle most
Medisn | Harmonic mean Mode " . o i a data set is called:
(4} (¢.2) ta) (é}%‘@\ e tniomfinie| 8 \
[ ) _ Power set of an empty set is:
J P et B L0 5] 9 |
| W " : 4 point (-1, 4) lies in the quadrant:
f e =L shbedl | sbbefat | - Lix+? =x+6x+9| 10
Fraction | Anidentity | Anequstion ::::f; ba a3t =x? #6149 is:
!
12 3 4 = |! é{s"’JJ Xl dix:5: 155 1N
4 3. 4 'Find the value of x in proportion 4 : x::5: IS
o) (e A 5 4 _ . et ylxiyesd| 2
Means Consequeni Antccedent Relsticn  [Inaratiox :y, vis called:
?Mfzpnlzﬁbng?xﬁ x-x=l=0ztiePiafi I3
~ 4 : =2 |if &, P arethe roots of x2 —x 1= 0 then product ot
of the roots of 2a and 2P is:
P & N7 F ALl ax? sbx +o=02bloBeb? ~dac<0 /1| 14
Imaginary Real Ierational Ratiomal |1 b? —4dac <0, then the roots of the equation
ax? +bx+c=0 are: |
4 3 2 ! ; AL S etBom| 15
| The number of methods 1o solve a quadratic equation is: .

512-X121-60000



R Y | (inaris,
f‘)}f’/ ( Jﬂ’h’)(wb){f L

60248 & 02:10 1%

(Part-1 Jjl4das)

12 Write short answers to any SIX parts, Lo\t fLlonge §f 4
Write the quadratic equation in standard form: e R YY) e Ppdente )
Solve by factorization:  Sa? = |8y steisn S Ls G
T —— A iy

xl=8x+3m0 B A e AR AL st G o (iv)
Findﬁ:muﬂlhaprm::uﬂh:muonheqmdmi:equnlinn ML S g

Evaluate: (1= +0?)®

(1-0+e?)® érﬁ‘.g.._’ ()
Discuss the nature of the roots of the cquation: %% +6x-1=0 W abx-lu0 :Ef.tf.{r't-?ldyuﬁ-.w (vi)

“urdle 3:4 0 2p+ §: 3p+ 4T N pbc S (i)

Find the value of p, if the ratios 2p + § : i3p+dand3: 4are cqual,

_-,,Vetil.‘-_ﬁéqb ﬁ\@éa_ﬂ V=5 '.FacRJ‘f{mlj

Wyvazpdand V=5 when R=3,find R when V =625
Find the fourth proportional off  dx? , 2x7 | 15x* 0Q§\ ot 2 et Lo g )

12 Write short answers to any SIX parts, %5@\’ O A T T
Resolve into partial fractions: ﬁffﬁ- Qj@ ﬁfh L5z ©
What s 2 proper fraction? G° tednah i)
{@‘“’ | ~Fa Ao Gi)
IfA=Nand B =W then find the valiie of A B -Eredf A-BRBaWaANA (v
,5‘5;)*‘ YUT I T20" vz i ()
IFM = {d, e, £, g), then find two binary relations fn M x M _ -SE P MM B M= (et h )
What is a histogram? ' LS i
Find range of: 11500, 12400, 15000, 14500, 14300 11500, 12400, 15000, 14500, 14800 i a (viii)

Define onez-one function.

IfY=Z" and T= 0" then find YUT

Write three properties of arithmetic mean, -ée-_'l.-m’.uf tﬁ-l'ﬂnlf (ix)
12 Write short answers to any SIX parts, .!m,’&lzqg.df -
Define direct vasiation.

LaMfend

=Rl vov=a rus bR v S G
Ifuundtmm&wm:lymduvtmnv-i I'mdeiimuﬂ 12,

Convert 15% 10 radian,

Ldasgt. f s G
Fﬂﬂrme=5&m‘ﬂa=4st‘ .éf*’:-é{;.rh'-":‘s' ,ﬂt'S&muﬁ {iv)

Define an angle. LAy W
(edh)



Locate the angle 12%' in xy-plane, -éﬁﬁﬁ?-:’fﬁ%" 245 (vi)
Find rwhen (= 4cm 0= radisn. ghO=g tadem Gocdf ¢ i

m&A=80° ;i mAC =dcm . mﬁ-ﬁm,&#ﬂ“mﬁﬁuﬁﬂﬁm (viii)
Ina AABC, calculate mBC when mAB = Scm, mAC = 4cm and mZA = 60°

LIS i LS ()
Write the formula for finding the angle subtended by the side of a n-sided polygon at center of circle.

- i 9 ;;;dlr -L.&‘ﬂ" 08 Lz -g{;j;—lméa lHrLfcaJ; pdyl dudas,
Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

3 3
04 Solve the equation by completing square: 4- 3-:8+l = 3;'; :15 égJ dﬂ}ffiéf.blﬁ-‘ () -5
04 Prove: X+ ¥ + 2 - 3Ixyz = (x + y + 2} (x + 0y + 0 Z)(X -@&%z} e (L)
04 Findx, if 8—x:11-x:2:16-x:25-x 8- @}\uﬁ:lﬁ-x:lﬁ-x}érp;éd' x () -6
04

" ; o x 42x+1 {.i@j x*+2x41 . ks
Resolve into partial fractions: {K—Z}(X-I'B}ﬁ,\@b\y (TP éﬁ@u:fdﬁ ~)
%

04 MZ=1(2,3,5711,13,17, 19,23@"{)\5{0,2,4.6.8,....20} + X={1,3,57..., wgﬁ(._m} -7

Ny L XUNNKUZ)
IfX=1{1,3,5,7,..., 19}, ¥=%0,2,4,6,8,. ., 20) and Z= (2, 3, 5,7, 11, 13, 17, 19, 23} then
find XUY)N(XUZ).
04  Find the standard deviation S' : 9,3,8,8,9,8,9,18 e s i ()
X o . SinB+cosB® 05’0 sinO+cos® _  cos’®
04 Verify the identity: o T Y4 ) 7 ,éﬂgf,;ju(..ﬁl) -8
04 E L S 3s s s i nl S (L)

Draw two commeon tangents to two touching circles of radii 2.5¢m and 3.5¢m.

e bnthoe e iy A SIS A T i e U A e mgSar 9
Prove that the measure of central angle of a minor arc of a circle, is double that of the angle subtended by
the corresponding major arc.

- OR - .

L e I VUME o e b psTE
Prove that two tangents drawn to a circle from a point outside it, are equal in length.
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Objective Paper
Code

L2420 1= 7195

S

e BB IS AL 7 2rne ML s Ly Q6317 B ELEsD 41 C B A= By

A
I

-fﬂ;fawuliuﬁbcu.u:‘cfé_fd’uﬂd....fd:)‘sﬂ:uha._f '4‘.‘;/

D _C _, B A : o Questlons / _.;Ulr JJF"/:
:vn_-‘ETrf byl _t ol Zlbos .:‘_t'll‘r._.udbnj&frf.qw 1
Harmonic I ] The measure which determines the middle most . :

|__mean Mean | Mode Median Iobservation in a data set is called: |

] :
| had 2] S ikl e b K oS /...us'jum-w/,, 2 |
| h'he union of two non-collinear rays, which have common .
; Aosdun | Aouee | Aomws | Assese ..]EEE’_BQ!ELIEEEHE‘! e e o i i |
i cos 6 sec2® | 2c0s28 2sec?f | I L. 3
R R P -'-"I Iismﬁ Irsmﬂ i

| ;- - - [—rr——— ;

i T e + P S LFWPB(—J‘//&J“EJL&/" 4
_Anare | Achord — Diameter |  Radius  The distance of any point of the circle to its center is calted

o = . -

: i ~ | 7 d’ﬁ'b 1 C\ e T R Y 7 T L

| Center Diameter Chord |  Secant A circle has only ng?\?/

' t | A=)

| l fd/su’ﬂ @fv’fgﬁ’-ﬁfﬁy".}r’fu}'bﬁn{gﬂ:_ﬂ'

! L] ! L] o -] O

: 60 i 43 30 . 15 {Out o igruent arcs of a circle, if one .c:._rﬂ._.sbd/}

I ' i a central angle of 30° then the other arc will

b 41 o d the central angle of: .

r , gndthe ¢ - T S

| i ‘ 3 ) “a.d.va’rLH_ ’JJ—(../'JJL"J,ELL- .fh.fl 7

! , The length of‘the diameter of a circle is how many times

| ! i " /thggadiusofthecircle? = =~ = . |

93 | (z3) | Y wii-| 8
P _ JThe solution wlofccll.ig_uiq x? -9=0is: _! -

A | 0l AT =5x +2=02 s,*..—-; 9

... el f“ Rational _ | Imaginary | ‘dryational [Rootsofithe cquation ““2_ 5"_ 2=0@re: ]

I ! SUCEE P S

| a+f @+PP-20f | —5+tay | al=p? al+p2=: 10

| | a® B | |

E w'-'*i I‘ J.*'J | ":; 2 ! b ULP’JJ{_ ¢clasac= b2 . a:b=b: C....-‘ivJy

| Extremes | Means f Fourth Third n continued proportiona:b=b:c, s bt |

o ooy lac=b2,bissaidtobe proportional betweenaandc. |
[ - i
| \_x:'{ I Xyv ! vy | Xy | e w_-f{:-ti?g'x:)'::v:wi 12
L X | v | The fourth proportional w ofx yuiviwis |
At . Py S RS T P, c_d[L,J;f[rc_df ujﬁ,ﬁj}: u—fk'uff/
A proper o ’ An improper A fraction in which the degree of numerator is less than the |
|__fraction | Anidentity | fraction ' Ancquation | degree of the denominator is called: Jr
| el e e
i | w2l sl G
CSuperset | Set | Power set _i__jl:l_lj_‘glj | A collection of weli defined objects is Li“!‘.‘d I .
tor | totan |ty | e oreaberds 1
E. |

| Power set of an empty set is: )

- R
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( Part-1 Jil 4las )
Write short answers to any SIX parts.
Write in standard form:  ——— * L% 2 BN
X+ X

Solve by factorization: 5x2 = 15x

Write quadratic equation having roots 4 .9

-1,"‘3

Find @, if o= —>

Define simultaneous equations.
Evaluate: (9+40+40? )}

Define ratio and give one example.

Find the valueof x when 6 :x::3:5

- u= 12 2g (J"’..Ju( viny <§\.€\‘u 8 a:lﬁJﬁ",c‘L- vy }i

If u and v varies inversely and u = 8 when v =3, find v when u=12.
Write short answers to any SIX parts.

@@‘\O

Resolve ——3 'T

into partial fractions. {Q;g@

RO

Define an onto function.

Write DeMorgan's laws.

ifu=4{1,2,3 .10} and

ifA={a,b}andB={c.d}, thenfind BxA and Bx

Write any two properties of arithmetic mean.

Define standard deviation.

L e sl il £ 2.4 8 2l

Find the geometric mean of the observations 2, 4 , 8 using basic formula.

What do you mean by weighted arithmetic mean?
Write short answers to any SIX parts.
Express angle 2257 into radians.

sin@+cosB

=1+tan0
cosH

Prove that:
Define projection of a point.
Define a circle.

Define secant of a circle.

(&)

s A U-'.'l 2,3,
z(ﬁgg P

BxB i BxA

J (S !.ﬁ)(f”(f'b

Aozl ange 3 -
—;%-l—+-‘£f'l'—6 .-.ff,,a.u G (D)
sx2=15 L SSAed i)

4.9 .-_,;.'J»L&&f’..—.'su;_im (11)
0V o= :‘?—1_ A v
SE W ASUIAA (V)

.,g":.'r}"..;-_!:g; (9+d0+4? )  (vi)
EJedingE Al (i)
6:x::3:5 Lommad x (viil)

(ix)

-é....tw”zi.l?rga.df

--"'f._.wrufr "—_"'_'_ [ ()

S ST i
BRSNS G

101 cA={2.4.6.8001 (v
FeB={c.d} MA={a,b}/ M
-& :r', }-"Uf%i)é!-b’b!'év‘ (vi)

- G (i)

(viii)

‘.'L,g%_!lft_f’:rfa.. Jv:’g}'h.—-".}f: (1x)

eyl inge 3

LSS ba 250 0 ()
-‘-_i“%nf's—‘;’i‘itn @b fZop (i)
EaflnwSLss i
__é_.s;i;-’g_,faih (iv)
ATl (v)

-3

-4
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04

04

04

04

04

Define chord of a circle. S AL (vi)
Define central angle. uéqféslidﬂ (vii)
Define regular polygon. = S e 2E, (viii)
Define perimeter. -:_:.',-‘:r ...Q/U.bb' {ix)

-850 9 A 1/ 08 L g fevil cvrife Y ipip acaa

Part - 11, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the given equation: v X+3 =3x -1 VXx+3 =3x-1 28 Fenladn (L)
Prove that: Xyt = (X 4 y) (x + oY) (X + 0?y) Sk (&)

Using theorem of componendo dividendo, solve the equation: :gfﬁ&lswc_db'*li%__,f}.ﬁ* ()
4.\
Vx+3 +vx=3 _4 QC%\
3(0

Vx+3 -Vx-3
O -
Resolve into partial fractions: L1x +3 9\@#—‘—":‘:—3— :gé'g_k.b—;_ﬁ;r/drf (&)

(x —3)(x2 +9) @\) (x =3)(x*+9)
N i
Sk c=,{\@> 10}« B={1.4,7,10} « A={1,3,5,7,9./1 ()

AU(B(\; é%’(AUB}mAuC)

ItA={1,3,5,7,9},B={1,4,7, | = {1, 3, 8 10} then verify that
BN1Cy=(AUBNA L)

P UIAG A 12,6,7,3,15,10,18,5 s ()
Calculate standard deviation for the data: 12, 6.7.3, 15, 10. 18. 5

A

“éfﬁﬂﬂd’jdjgf:éL;}“'u':d.vr_./}'hEJ:}iK 0 ‘:,,I;J,fCUSQ = '_3_‘" f‘; (‘-'“Jf}
-2
If cosB = ~3 and terminal arm of the angle © isin quadrant I, find the values of remaining

trigonometric functions.

...._:é}.r""g;ﬁ(}!f):fé: ABC p";_fg (....-)

S Ukl Ss e .'f'}n;u:rJ‘LF";n:Z.;_ ,"'lJ/:,ff E‘Er:d =
Prove that if two chords of a circle are congruent then they will be equidistant from the center.
- OR -- P
=€ tﬁb".l};..-e-J'jf!‘fia,&(g;wli|L}:J|.J’=f:|}d;‘ff'l}’!é‘.Lﬂ;é‘pq;u:; ff:‘_){f:é.:.:t‘
Prove that the measure of a central angle of a minor arc ofa circle, is double that of the angle subtended
by the corresponding major arc.

Practically find the center of an arc ABC.

511-X119-65000
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p Objective Paper
/3.’&—-’3/ ( U‘J 3 )( ) (fp s Code

v 30 15 4F 220 7198

e BN IS L7 e S I sl I Q62 BLED s C B ARl v
-fﬂzr‘aﬂﬁ.—f.?uﬁpfuxﬂdlé..rc;/uﬂd_f.‘fu:/buhr_-f -é:/

.U'r‘

A x=]) I8

s i i

D C B i A ] Qucstlons / _.aﬂlr' i Ji’/
| e “T'_“_1
i | ‘ el s uS; /é&uuu&rp/» -
4 i l 3 2 How many common tangents can be drawn for two | !
ORI 'S . o disjointcircles? | - \
Ja!r .,ﬂ,‘-‘f J.I.F",—f J.E}"' i éuru‘gﬁ luwd..:_u:fmu’g_:f:d;/urb“ni 2 |
' A pair of chords of a circle subtending two congruent
i Parallel Over lapping |  Incongruent Congruent | central angles is: | 4
T > ) Sl
. » f WA g S u"g.n'u"af lJVé&f:'u:/L)’L.:._ﬂ:- 3 |
' ) ! ) | Tangents drawn at the ends of dmmeter of a circle are '_ |
. Perpendicular | Collinear | Non-parallel | Parallel to each other. | :
sl SB35 ; A ' ks I _4.':'!1-{ ﬁl:{..ll-f}:f:..h(fz.'_ /'r: 4 :
I ) Line segmentjmn \q point of the circle to the 1i -
Perimeter . Radial segment | Diameter Circumference |center is calledy—\ , & '
| S -1 T i —— - —
2 . 2 I 2 'I - 2 ! C.k_‘} “ 5
|- tan?6 | +cos? B |+tan?@ | 1-sin“8 0{@ sec? = !
1 " S i (@%‘ e - B
L0000 | 3600 ‘L | \35 20° = | 6 |
—t L Ay e ——
| L | e tnst e QoL XA T
i 2 . ’Sum of the deviations of variable ‘X’ from its mean is | i
Same | always: b Do o e b ]
B-A o I a.t'r/fg-‘\ -BirAcB /i 3
f D f lf,f\n_:B then A -B |s_guﬂ____ _‘___!__ B
B ik i - | el {XIXeWAxsI0op 9 1I
|' I-mut:: set 1 Null set | Sub set 4 Infinite set_  Theset {x|XeWAaXx s l_(_)l_}_@____ i 1
| P . 2x +1 i
et e e f A e LT x-D | 0 |
‘ | | An improper 2x £l |
| Anidentity | A proper fraction | An cquation f fraction . .
r |

ja-b _x-y| a+h X+y i a_x | &b coduinab=x: ,/?' "
- | __h ; _y__ : b__y . . L ;_Ifg_ b = x : y then alternendo property is: B *'—i
i i 2
! uv? = uv2=k i u=kv dvuav / 12 |
i__— 0 U, ye—— Y / _{
! = a
I A4 | 2 [ -2 -9 S 13 |
'[ 2p . p P p If o . B are the roots c_;:‘;bﬂ [
Ij i ‘ ) 1ofpx3 2 4.gx +r =0, then sum of roots 20t and 2P is: J
| \
"; @. 0 | - ' 1.-1 I, ' Jd/hwu&idﬁ" 14 |
P ; __j] : | Two square roots of unity are: o B 1
! ; ; | :_JIHJL,IF;U" ax? +bx +c= 0...':L-fd;Lth;JjJ| 15 |
| 4 3 ‘ 2 |
|

Y

 The number of terms in a standard quadratic equation
2

Y A I

512-X119-50000
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( Part-1 J3 4aa )

Write short answers to any SIX parts. -d ..-.g.r_eﬁi.lmg;.&f
Solve by factorization: x?-=x-20=0 X*=x-20=0 :._:‘-.:ngﬁ;fa_:ui_- (1)
Define reciprocal equation. _c_:’f - ;TJ_;-,;,L..,_;,G' (ii)

5P A s 6 Pl KB X2 +3qx —dr =0 iy, . (iii)

Without solving the equation 2px? + 3gx —4r = 0, find the sum and product of its roots.

Evaluate: (9+40+ do? )} (9+d0+40? P aopd iy
Write the quadratic equation having the roots ~! + =7 o PR :é-.:hL—*dm.-dhu’.Léé_: (v)

_éf}y@fJ a‘.—'ﬁl ;(Jﬂu;”zi 4x2 - 5x + 6=0 .;-UL"J-;M,‘ @.p ..-""1 (vi)
If @.f are the roots of the equation 4x2 — 5x + 6 =0, then find the value of alp?.

Define inverse variation. e ..5‘,'.1...43/-‘_;._,.9’;’;;; (vii)
0
QC{J,\ S BRK 8.7 .6 (vili)
O
Find x in the given proportion: X~ 2:4::2x+3:7 -2 :\%EQ:." e i x J:.,..ft?afé.: (ix)
2 </
Write short answers to any SIX parts. @ - @Llﬂ/‘?ﬁoizifc_gf
- . . _...‘_.'3_.-.__ \l - 3 — 1
Find partial fracticns of x+D(x=1) - \\& : {f}*‘;/d:EJ '{;H{-k =y (i)
Find the sets X and Y if X*Y-g@ﬂ-(b.ai.{c.a).(d.a)i fu,-:f_',alv Y o XEr o (i)

nAJ}f..:.—,e};;,qﬂ!.2.3,4,5,6};a=12,4_ﬁ,s;ﬁ (iii)
(-f\ 8 } then prove that ANB=BNA
Write all the subsets of theset { a, b}’

Find the fourth proportional to 8 7.6

IFA={1,2,3,4,5.6}.B=(2

L fer GOl (a b e (iv)

Define a function. AN (v)
Name two measures of central tendency. -g,’é}ﬁ,:t.f..,_;:’;.;nigﬁ-ﬂj:f} (vi)
Find harmonic mean for the given data: X 12 § 8 4 | J‘_:",:'-.'(rl"‘hrsf-.ﬁ:-"-‘fé.f.ﬁré'._:ré___: (vii)

~E P Lot L7992 86 93 2 A.Mu_ﬁu:‘:f-:'aigriég&f“g. (viii)
On 5 terms tests in mathematics, a student has made marks of 82,93, 86,92 and 79. Find median for the marks.

Define mode. -;:-.é!/jd:.sk (ix)
Write short answers to any SIX parts. -d ..ul,.wﬁé.l:zlgr_.d/
Provethat:  tan“ @+ tan20 = tan2 0sec2 O tan* 6+ 1an2 0 = tan2 Bsec? B JEee )
What are trigonometric ratios? ‘.‘H"."Jﬁlf’u:?'- Ji:f (i)
Define right angle. _g‘;’f ! ,’-J_. R {11
Define circumcircle. -ﬁ_@f&}lnﬂ? {iv)
Define secant of circle with diagram. .._-.’,‘:'...yiJw C,bt?.:... :.Jf (v)

( 4{'...L5..'Ir )

-2
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04

04

04

04

04

Define circumference of a circle. -_é:‘: PkbSE (Vi)
Define cyclic quadrilateral. -gé_gf&&.ﬂfb (vii)
Define radius. Al (i)
Define incircle. E w5 (%)

89 A st 08 Ldivs - ferletivda §f pipadas

Part - I, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve: x%+54=15x~]‘_ xé +54=15x_-’L- gf:llf (1)
-ﬂJ)b/'I'u:ujucixz—x+p2=0:,iJV)1§§fJ”;-EJp (<)

Find p if the roots of the equation x2 _ x 4 p2 =0 ditfer by unity. \_,»\

-l _::.drflo 5:6 er/it] "@W’c’v Losr Ll 314N (L)
If 2 is added in each number of the ratio 3 : 4, we get a a;\ i 5 6 find the numbers.

Resolve into partial fractions: 1}2 ) \;5© ] :gfffu':;r/dsz (<)
%>

(x=1*(x-2)
B={2,3,57) -A={1,3,5.7,9) ‘Ualﬁﬂ.miﬁ.m 9,10}.6 (AUBY=ANB ¢ (L)

Prove that (AUB) = A'N B’ such ¢ =11,2.3,4,5.6,7,8,9, 10}, A={1,3,5,7,9},
B=1{23,57} -

Find the standard deviation 'S of: 12, &g 15, 1™ 18.5 2«;;{(7“"' " J'f'd}}v (<)
Prove that: (tan 6 + cot0) (cos B +sin 0) = secl + cosecOd JEE ek (L)

IR 3l 3 (5w/LugU' CA .o BC ABELUANE J1LBE by ¥ ABC 248 (&)

-_’qi:,‘r]"" S b’u' 7=
Inscribe a circle in a triangle ABC with sides [AB|=35cm:, | BC|=3em and |CA [=3cm .
Also measure its in radius.

-ty s ab;b’lf!:a/(_#"d(r.,b’? ) .:.J}Lc_ :*:fq.....—ﬁ
Prove that a straight line, drawn from the -:.enter of a circle to bisect a chord (which is not a diameter) is
perpendicular to the chord.
- OR -- s b

S ns b:ﬁl_.uxﬂ.’ I o n Flaabd(§ ..{'ﬁé_. :Uf_é".—-.:f.t‘
Prove that any two angles in the same segment of a circle are equal.

512-X119-50000
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B il R e S I st L—L..hr,;.gqm ML A C B ARl g

A

er‘m,.mmﬁhtwa.f.p&fw;fwﬁ.&k._ﬂ A

— : - I =
D | C | B fk _ _gmlinns f_ ._:dllr ..-F/,"
F Leadd | s o ) Wi | 1

Rectangle an‘g-w ! Emﬁ | Drasa A grouped ﬁuqumw}rlahlc is also calbed: 1

g — . _—q——‘ -1 | ————— e ———*—

b i A1 ! ﬂ.-.f' i e bl ¥ .m"}"f,.«.ﬁnfwwﬁ'ﬁjuf 2 !

o ik A minue | A - Anngle: x n:lz{:;l“n;m nan-collisear rays, which have common emd i__ 4I

| ad | e | el | - A gl

| Half of #my M:rl:l;-ﬂ! | .*:1 r Dﬂﬂz:::flﬂ'll Ir ufh-.ﬂhﬂ J’*!L}.{: 3 +1

,_ﬁd""d. 4 el , diameter "_lhdnnhclrciew ,

imnt!’;.ﬂ: tamguni Fe— #U | cosine K 75 . sinz B b i r_.l"q“"::r.f M..J,f‘#‘kﬁ.:.mh’fli_ﬂ 4 |

- Secatof's | Tangent of o | Cosine of a Jiltmwhidthuurﬂyoﬁc i comann with a circle is ]

_ cirgle ' cercle F elrcle ,‘mu.ufaml: called: | I
2 ! - “T"—'_ B e ——— e — e e S Y _'__‘l
s . ; | s .r_.m,m'ﬁa' Spamdra i s

dem | km | km ' lem A qem long ds & central angle of 60°, the radial ‘ J
o ) - _segmand :
. : o N | —
My Fol .ul" I qu P i cj\P ‘:? ‘;I‘Mﬁl‘gdﬂ_}bi
e i iy oo s J
i | - [ o e e e
" —;- E : ..g'ﬁ l 1 N "'{::\ -t E_l‘:rt.ﬂ.u.r"itr... Faid
].__ = i . " : QMMIH!SHTII circle s |
i e - 1
|' 4 : 3 r 2 | I \"1 TT %Jlﬁ“{uﬁd“ +b“°"u-'"l"'l54'-vx.i'w m 8
i ’ hs: mlm of terms in a standard quadratic eguation | |

e — i PR— E ___,_H_.imc t bt_*- =0 is s g S [_ .y

E “i;' % | % | ""]r' L;“ﬂlmu%.-..-.'; *:+4»{+..I,L.-l5 o [ v

[ PRI L. _Jr_ A R\ Y N I_ﬂ‘tﬁf_uﬂh:mﬂ&qrhi_“_ql . then SB s [

2l | T !

g -, -mz.«l.—m,qu2;~i (] —sz—[._..m h yvanlﬂ;qi =1 T

I_____ SRR | Iﬂuhcrml.'mf'*l are: ‘

| i - -- : '_'_'-"T __'-':‘-- '—_-. - ———————— s e __-7__‘___ r

| "',f;i:,f ""ni:;," | _"’i"l' ) | ...r.?.ur"mnucn biicidet! 11

[;mgntmml - propestional | hm‘f‘_fmi* M'm"f llﬂaprﬁpﬂmmn biseid, anmidnrwallad !

3 4 | T I P A e

F i1 = s LR

'_ | % R A T Sﬁr’i"’ RIS E | 12 |

T T T T T Lt e it 2]

I v W Wi sl x «OxedP =207 dbx 6 fie| 13 |

Licio ':im M!WL“ | lw"""_" m‘;:" i"l'l'lr.‘ulmuf!r‘ {5x+4]= Iixi-r-d-{h-dﬁ 18 true for aof x. J ‘

o el S b re
-q'_l‘&.nf (AR ﬁ: 14
b Buper s I 5« [ Power sel Sub:o:t A:nllm.tmn of well defined _o_bieclsm;:ajlﬁt ¥ B |
JUSTR I NUERY ' (3.2,45 | {1.2.4 e deld R R=10(1, 32,42.2).(3.1). (4, 14 18 |

- e —

IR ={€1,3),(2.2),03,1),(4.4)}, therangeof R is;|

5 1 1-X118-62000
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{Pﬂl‘t-l N d)‘“&)

Write short answers to nij.‘ SIX parts. _é‘;m’n{xl‘ﬁ.df -
Define pure quadrsic equation. .ﬁ_ﬂf{ﬂ:wﬁm&ﬁ. (i)
Solve by factarization: 2 -%-20=0 W oxe20-0 (ESULL G
Find the nature of roots of the squation x°—5x +5=0. _#-rﬂ""rl.lid;,”u& o sneS=0 abbe (i)
Evabuate: (1~ 3o~ Ju®)’ 0-d0-3'y Zend (v

ﬁ‘#ﬁfg{ﬂz s .F;,.Ia';ju& Jl.z+|:1.-.--qr-0.-.-.l;l.-'5‘“); (v)
If & , [ are the soots of the equation x* 4 px +q = 0. then evaluate at _,_Bi,

(%2 +7x - Da{x+M ﬁéfﬂ"aﬂrﬂ&-{)‘m Ln.-!...-r;ﬂl""lrﬁw{; (i)
Use symthetic division to find the quotient and remainder, whes (Jr."' M= +(x+1)

if Max =590 = 25 =T¥  find the ratio x : v iﬁi—-]'*'&--“?j'm‘ i=D-Ty S i)
""“‘rli'md:'l.ézwwhcnf;lﬁndrwhna\v?l. HA=T G r«‘.r-}_.-@h-lal"tt;j {viii)
<

Find a fourth proportional 0 5 . 8 , 15. 205 $.8.15 i EA G0 (in
Write short answers to any SIX paris. %5@ ezl g b
Defite improper fractian. G@ L2y AL

W I ] ..
Resolve the fraction 1——:5%1 into R lraction. EART P o= :; #1 (i)
Define binary relation, -é-kf‘szd@ (14}

e YUXD Y~ y2,4,5,9)eX={1,4,7,9)0 (v
WX~{1.4,7,9 and¥ = (2,4,5, 0 then find YUX.

S P S RY * X XY Gy =(d, e} X={a.b,e}) (v
WX=({a.b.c)and ¥ ={d,¢]. then find the number of clements in X*Y and ¥ = X

AR e ik (3= b= (n-T,2b45) i 1
(3=, bel)=(a="7,2b45), then find the vilus ofa'and b

Define arithmetic nean, .3 —é'f;Lﬁl"'\'-ji-" (viil

Fined rangs for the followiitg weights of the stxlents: ez Land ol iy
l]ﬂ.lﬂ?.“,ﬂ?,'ﬂ 104,74 07, 49,59, 103 , 62

Find harmonic mean for the data: [-_x 5 l}[ E | & | 4 ér!"'htuﬁ?" (ix)

Write short answers to any SIX parts, «gﬂv'gu/’-:*'z'("-df

Provethat:  cos’ 0 -ain? 0 = con® 6 - sinl0 cos’ 0=5in* 0= cos? B-sinte .é.:r.’ (o)

kel $o B hE o T g 28 e a0 Sl dpin (i)
What i radinn measare of the central anghe of an arc S0m borg on the circle of radius 25m?

Express 3007 sage into radian, o g A 3000 (il

Coibdr)
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Define acute angle. LAl (i)
What is roeant by chord of o cirgle? X e smfe Al (V)
Define secanl. -ﬁm&'ﬂ{ﬂ-ﬂ' § (w1
What is meant by segment of  clrcle? S Able s Al (vid)
Define circum angle. AL (vili)
Define diameter of a circle, LEWABL ()

-_—

-89 A (B4 08 Ly o foprlcimbedS g3 Adas

Part - 11, Attempt any THREE questions. Each question carries 08 marks, Question No. 9 is compulsory,

Solve the cquation by completing square: X%« 2% ~195 = 0 :é:d';.&/ﬁchhhdibu ()
g-tratboaa e 0 B AL X PR qel s a B (L)

If B are the roots of the eguation x? +px 4 =0, form equation oS are o 'BI )
ii..:...g.p.'. = j_ﬁ_:_%_’ H, rae (3] Tape——
da=9h  de+ % fliﬂbﬁfdg@(@ﬂ.b.c.dﬁﬂl.a.b-t.d)’l (it}
fa:bwe:d, (a,b,c,dn0) by using k-meth thiut %iﬁ% ﬂ-:%v}—%
3 2 1 2
Resolve into partial fractions: -?"}*--'ﬁ;":@@ ﬁif““_si";:l! g,l.]_i'..":,:»fd.z ()
- o I3

SE kT Cm (1,5, 8, 10) - 4,70 0A = b 3.8, 7,9) s U= (1,2, 3,4,., .. 1031 (L)

BUE =aNBLUANO

IfU={1,2,3,4,... 10, A={, 3867 9.B=1(1.4,7, 103, €= (1,5, 8, 10} then verify that
AN C) = (A NBUIA )

.é}ﬁﬂ_}rj@y Btk ihs L-!&k ()
The salaries of five teachers in rupees are a5 follows. Determine standard deviation.
L1500, 12400 , T5060, 14500 , 14800

_ . sec+1 _ secB+] secB+1 _ secel ()
Prove that: secl - | tan \J sech -1 tan0 ey

L D Inf 6 il I pL ol B diend 24 (L)
Draw two equal circles of each radius 2. 4cm, [ the distance between their centers is Gem, then
draw their transverse tangents,

L SR b ie. ol e S0 e ot
Prove that lwo chords of a circle which are equidistant from the center, are congruent.
~OR - . -

s R -9:'&%;&6:)'&&.5&0’?@&?
Prove that the opposite angles of any quadrilateral inscribed in a circle are supplementary.
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Objective Pape
/n....df (u‘/‘.ﬁ’)(“‘rl")u‘ti Code
5 AF La2() Ly 7194

= GRS 3 AL R BN it e Jrg g IZ _ZE D i € B AR Z Jirg

Al

bl oSS\ iFmienl] A |

-—

=

n | s B LA [ Questions / -.:-I.Hr' ¥ _i
F 1 dmm{u!&l.,. A% D e A8 B LLSSOEAEA ....-,-,«" I |
12 7 4 3 lfnumbl:r of elemunts in set A is 3 und in set B is 4, then |
o _ number of elements in A < B is: B s !
TR | ke | e | s | e adSfe| 2 |
Trimgles | Circles | Revtangles Squares A histogram s & set of adjacent: | "
L L. e L. . !
BT 150° | 135 18 | %:- radinns = | 3
| — - b :*_ o T - St 1 -
ot 1 af Wl = '1 lq-tﬂﬂﬁﬂ:i;x?'c.ffﬁe-?b 4
_ Secad [Cireumference|  Rading | Diameter | A chord passing through the center of & cincle is called: |
socault i 7 | cosine e 2 | sine feFy | SRy | el AL AL e A I '
Secamd of 2 | Cosing of & Sineof & | Tengemtiof a | A line which has onl tin comansan with a circle is
circle amcle orele | ccle | called: A
|
1 Q@gﬂ . ..:l:dffrkﬂ.-ﬂ..f_ﬁl &
360* e 180" i' L geimlerence nnd diameter of 2 circle both subtend a
ST e e ARic ol e A e |
- Cew 7 -q..{' G{H@r&ﬂ} |
ooty | Secm | Cvond R line nersecting  cirle i callt: L
L3 x | = j bty fm-"'...r::_}ﬁ.;-v! B
2 | 3 * £ ﬁmg}_n inscribed in & semi circle is: i1
ER WY ST R S D] =l /] £ m'ﬁd&&-ﬁ#ﬁnmi‘r G ..g;,!l El y—;f, ‘—-’!lr-'l'!l 9
Quasdratic | Radics| Hec ik which remains unchanged wlh:mx is replaced by
S ’ w_’_‘f"“ E o y is c:llml a'an: 1 ]
_2 widi I 3 3 ?J'JE*ﬁMy'jm- W d-2= u_.l,pﬁ.ﬂfl 0
IR - 3| WYY [eesyiun ® thig roots of x? 4 5y - 2= 0. then @ +B s
: | 1, - |
_ - e o 2 %a2 Pt 2 '
| w+f i[m-ﬂrz—:up =3 +51 i_ﬂ ! a2+ w? n
"";I::_“f L Tgﬁ‘ o T Wil o tl_'..'-'s al b—u cdeer®| 12 i
proportsanal F“F::::’“M Extremes Mcan  |Inapropoctiona:b:;c:d, b amlc are r.'-nlltd l
l - DS =ET— ) — |
i —_—— —k
u-l'ziq u:wzk u_‘,kz h “=wk1' . . ;’f ; 13
[ = Diovid -t ) ikl [eadenssall] ;]fT=‘; =k, then '
S | ' - DXx) o N(x) £ D) 0 0 8 :n{ r?t‘{nlﬂ-mml 14 |
J‘-’! / | = .i...flpl" “L | mx) i
Irrationsl A fraction l At equatson | An identiy 'A futetion of the form f(x) = .Hi, . with i.{".-'ﬁ" ;ff | |
. Dix |
— ) _ Iml}#ﬂ - whire N(x) and Dfx) are pfﬂ:mummh in x, is called: | |
w‘-’ m\' hﬂ‘d}r I —-F'J"l“i‘ :;ip"fi ‘EWJ\HSEQI} 5
‘_ Fimte st | MNullset | Subset | Dolinioe et iTheu! i ke WAaxs100} iscalled: - |
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FRP-Gs-te-18 CPart-1 % Jjlaca)

Write short answers to any SIX parts, -ﬂ@mmdf
Salve by factarization: 175 -4 -2 W =d-an  Lde: ®
: i :
Write in standard form: T i ;c_l_d =3 - :4 e _l_ . 3 :é;,.ﬂ.:..u-ﬁj..&-d (i}
Find the discriminant of the quadratic equativn 43" - Tx-20. o33 4% —7x - 220 b Ly (i)
Evaluate: w4 S - 5 W’ 4wl 3 q’é;‘s"’&é (rv)

el P Un L ¥ s =0 en-B e Sl )
I, B are the roots of the equation 4,7 _ +6 w 01, then find the value of g2

Define selution set of simultanesss equatians, e AL SE UPan  (vi)
Find o, ifthe ratios a4 3: 7 +aand 4 - § ar¢ cyual. ,é}'ﬂ“ af e d:-S g +3 T4, .:.-.Jﬁ {vii)

- "'3M¢ﬁ&$—rphﬁl’-ﬁﬁ£&_' _-E'.__f:]?—t"ﬂ"i;]l"r":;t]' (viii}
Viﬁ and V =% whenr = 3. Find V when 1 = 6 and r when Vv = 320, Q%-j.

Find a third groportional to & , 12 “OQ 6,12 #rﬁ*’..,-—rﬁr,&' {ix)

Write short answers to any SIX parts. @0 @/ ﬁ.:-{h‘:ﬂﬂm.‘adf

Define rational fracticn, %5 EaAR W

. St 6 -11 . -

Resolve into panial fractions T~ P C@;@ F—Eﬂil ) :,:E_'ut'"g:..f’.-_ﬁz (11)
(T

Define difference of two sets.

LA e iy
Uﬁ*ﬁiﬁ"Iﬁf;‘ﬁtpﬂ‘-[z,d.ﬁ.ﬂi'A.'-(I.?.3.4.5,_51ﬁ ()
HA={11,2,3,4,5,6}andB~ 2,4, 6. 8] then provethat A LB=BJA .

S BAA ol WA A={0,2,4], B={-1.1}F M
HA={0,2,4),B={=1,3}.0Ond AxA mx BaAs

Wtﬂe-nllmcmhﬁﬂt:ﬂfl}wﬁt{u.ii}. -.H_"T._.;'(_-l'f*c'»‘.’: ta.b) &= [vi)
Write two properties of arithmetic mean. - L fldls (i)

Find the harmonic mesn for he givendats: [ X [ 12 | 8 | 8 | 4 ] g flanide, i
1300 12400, 15000, 14500 , 14800 iz 3Bl updpdTisidy
The slaries of five teachers in rupees are given. Find range of data. FIR00, 12400, 15000 , 14500 , 14800

Write short answers to any SIX parts, !Mrlxl{adf
Write the relationship between radian snd depree measure, APl sSingts ()
Find r, when £ = S6em ang 0 - 45° =45 o 0w Stem Bgw il i)
Canvent (32.25F w D°. M' | 57 form, CELRL B MR S 22se ()

f Lol L I BT 1T IS S LML LT (i)
Wisether the iriangle with sides Som, 15em, | Tem is right angled trianphe?

Define circular area. ~i'£-é‘,-;lﬁ.r£l}ls vl

(e ide)
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Define tangent of a circle. /L" E,O,.—G , — fo~[2 LA UL (vi)
Define circumicrence of a circle. AL (i)
Define in-center of a triangle. ~E ST s (i)
Define perimeter. AL (x)

-39 A 22 08 Ly - fenl ctrfia§f iy aimm

Part - 11, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the equation: (x+Dx+P(x-5(x-7=192 &L Mol ()
Solve the simultaneous equations: x 4292 =22 | 52 4y = %i\ :élﬂft,p,pn (0
5
b rarg .
ac+cet+ea (ace\d | o - | _ a_¢c_¢ ()
b+ df+m“(bdr) b L @{i@*ﬁ"'“m R e .

@ )
N
ri=£Lt. g—(a.b.c,d.ﬂ-fﬂo}lhenbyusi &odshowmal: ac+ce+ea _( ace )‘i‘
b d f % Bido;
)

@ bd+df +fb | bdf
- 2_ ;
Resolve into partial fractions: _(;":__I_}T};"ﬁ_:". L -{fﬁ%i :g‘;’ J:b:).‘.',rr"dﬁ! ()

(AUBUC=AUBUC) f 7 Q={1,5,8, 100 /B «(1,4,7, 10} « A=(1,3,5,7 9./ (L)
ITA={1,3,5,79),B={1,4; 1o € =41, 5, 8, 10} then verity that (AUB)UC=AUBUC)

Caleulate vaniance for the data: Wwr8.9,7,5,12, 8,698, 2 :é{:"’q,ﬁl’rb‘éﬁé: (1)

e ————

o fsecO+1 _ secOl secO+1 _ secO+] e (L)
Prove that; sech - | . tan O ' secl) - | tanf) é""b

.,%{,I’L(_fj:‘uﬁﬁm;'ﬂr’ﬁ -L‘Elji’ﬂﬁr;féﬂu" 18 { ol ui‘f'l.‘iiﬂm‘f. uﬂgﬂ_}lm ()
Draw two circles with radii 3.5cm and 2em. 1 their centers e 6em apart, then draw two
transverse common tngents,

-t LHJQLFT‘T bl iy e Pr/ﬁ: I S ﬁ- o
Prove that two chords of a circle which are equidistant from the center are congruent,
— OR e - ﬁ -

- n.:i,;(‘?Luxglw:nﬁ fbﬁ(,ﬁ..&”ﬁ@ leféu:-:E

Prove that any two angles in the same segment of a circle are equal
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